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1. The distance from the point A(1,1,1) to the plane that contains the point
B(1,-2,1) and is perpendicular to the vector from the origin to B, is
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2. The equation of the plane that contains the two lines
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3. The surface S defined by (98‘_ 6x +‘:D .‘.221: ’U—l 0 -[—7
T’ +22% — 6z —y=—10

represents = C'&_ *3)2-‘\‘ 2 ZZ_‘:‘ (’5[ - 1)
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a an elliptic paraboloid with axis parallel to the vy-axis
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(

(b)  a cone with axis parallel to the z-axis
(c)  ahyperboloid of one-sheet with axis parallel to the y-axis
(d)  an ellipsoid centered at (—1,2,1)

(e)  a hyperbolic paraboloid with axis parallel to the z-axis

4. Consider the following statements about the surface

S : z=\/:r?+2y2—4y+23:+3

(I) It represents a hyperboloid of one-sheet
(I) It has a vertex at (—1,1,0)
(IIT) TIts axis is parallel to the z-axis

Which of the above statements are true about S7?
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(a) II and III
(b)  III only

(c) I, II and III
(d) II only

() TandII




Term 212, Math 201, Major Exam 11 Page 3 of 8 | MASTER |

5.  The domain of the function
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f(z,y) m ,:]
1S z z
= 5+ 29
(a)  the region inside the circle 22 + 2 = 9
(b)  the circle 22 + 32 =9 @%
c) the region outside the circle 22 + y> =9 = 5
)
)

the region inside and on the circle 2% + y2 = 9 %

the region outside and on the circle z% + y? = 9
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7. Let
2, 2 7
f(z,y,2) = zyz* + arctan(ﬁ)
Then f,.,(1,1,1) =
iy
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8.  Let
Tsinz — 2%y = .;; ’Deﬁv«.a.m &l r.—‘;. X o
Which one of the following is true?
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9.  If the linearization of the function f(z,y) = 1 — zycos(my), at the point
(1,1) is given by L(z,y) =az +by+c,thena —b+c =
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10.  The tangent plane to the surface z = z%+2y?, at the point (1, 1, 3) contains

the point ,ﬁ (:Yf 'j) g :I?}Z’UL
=9
(a) (0,0, —3) . - 2;\('”’?) <
(b)  (0,0,1) j ‘i
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11.  Let f(z,y) = In(u® + v*), where u = 2z 4 y, and v = 3z — y. Then i
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12.  Let z = 2%y + 3zy*, where z = sin(2t) and y = cos(t), then the value of
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13. An equation of the tangent plane to the ellipsoid
2 2

& Z =
T g3 V=Rt Yy

at the point (—2,1,-3) is
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) 3z —6y+2z=-18
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14.  The maximum rate of change of f(z,y,z) = e**~¥ at the point (—2,1, —1)
is
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15.  If the line
L: 2=24+3l, y=-4, z=54+t

intersects the plane 2z —y+ 2z = —2, at the point (a,b,c), then a+b+c =

2 (2wt +at 451t =2
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